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OXE2sZIR(=EE) L=S(&H) 7 13,140
-H=E= 200,000& x9H x 13| 1,800
—It 2t 200,000& x9H 13| 1,800
-g= 180,000 x9H x 13| 1,620
-Zol=s 100,000 *7H x 13| 700
-23= 200,000& +7H +23| 2,800
-2 35 180,000 »9H x 13| 1,620
=AY ES 100,000& +7H +x2E +23| 2,800
OXFSZIIR(S4E) II=(HH) 2L 25,560
-H== 200,000& x15H *13] 3,000
—It 3t 200,000& x15Y 13| 3,000
-8= 180,000& »15H »23| 5,400
-2 LU E(4&,5) 50,000& 128 *23| 1,200
-EtOI = 57,500 x12H x2&E *23| 2,760
-2 5t 180,000& » 15H »23| 5,400
-AI0I3 200,000& *12H 23] 4,800
OXFI2SHIIR 24l 57,600
-8 S48 xFE
1,500,000& x3E x12& 54,000
-S0IEH 300,000& »12& 3,600
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SM: MOFSHS A
HE: MRMUSH (23

yo
s}
O
~
0

Sl MRHS 84 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZSANZEI & D =-=5 -1 HUAA
el 90,000, 000& 90,000
04 DIZHHALALSE E X 15,000 0 15,000
OZ=stdHAE &It 15,000, 000& 15,000
308 XXIEHH SOl A 20,000 20,000 0
08 WISt E=x 20,000 20,000 0
OM=gM 4 E&d XA 20,000,000& 20,000
JA=EEHsUH &8 Zd X3 250,000 250,000 0
307 21201 A 250,000 250,000 0
04 DIZHHALALSE E X 250,000 250,000 0
OZ4=EEH=sHa & AH 250,000,000 250,000
ISANHSE 2E<E 2> 1,818,500 1,563,500 255,000
< 5,390
Al 1,813,110
307 glz2tol & 1,818,500 1,563,500 255,000
< 5,390
Al 1,813,110
03 BIAHNHE2IHIEL 1,818,500 1,563,500 255,000
OXgANN=s 294l 1,818,500, 000& 1,818,500
< 5,390
Al 1,813,110
SO MEMSANE A X K RA<E E> 26,810 0 26,810
J| 13,405
< 4,021
Al 9,384
307 21201 A 26,810 0 26,810
J| 13,405
< 4,021
Al 9,384
02 QIAFAAFEX 26,810 0 26,810
OZ ool MK X HiX (2244])
26,810,000& 26,810
J| 13,405
< 4,021
Al 9,384
MBYSTE 1,542,722 1,418,180 124,542
J| 469,286
< 53,180
Al 1,020,256
ANZEI 2 23 dEMsUE X 124,600 124,600 0
307 glz2+ol & 124,600 124,600 0
04 QIZFHALAIH E = 124,600 124,600 0
OANFEII & 2& dedsUH
178,000,000& x70/100 124,600
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SN MOISHS
I YSMASH(2HUD/HS)
K=

ool MEHsT

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEHE =4 16,000 18,308 22,308
201 £B-2d| 9,700 10,748 A 1,048
01 At 22l 9,700 10,748 A 1,048
O1.Let==ZH| 5,500
“HSAE e+ 3,500,000 3,500
“ZTASAL FaE LsiLgY|
2,000,000& 2,000
O5.2&Hl 4,200
“HESAE GR2FA AZA22X 24
7,000 «5Hx102 «12& 4,200
202 o4dl 6,300 7,560 A 1,260
01 = LH 4 Hi 6,300 7,560 A 1,260
OMSNH dFFEAHHI
60,0003 *5H 3«73 6,300
EXAMI E=E dEXN=sia X3 60,100 60,100 0
301 et d = 40,500 40,500 0
09 SALAHIEAS 40,500 40,500 0
OEXA =2 dEdsita &t 40,500
-H=E= 20,0003 *30E «158 = 9,000
-4l CH 7,000 «30H 541« 168 = 15,750
- Sl 20,0003 *30E «158 = 9,000
-= 8| 15,0003 x30& « 1568 =2 6,750
307 glz2tol & 19,600 19,600 0
04 QIZFHALAIH 2 = 19,600 19,600 0
OZXAI ESSE dadsia
28,000,000% *70/100 19,600
FECUMEN =S o XA 100,000 100,000 0
307 gl2tol & 100,000 100,000 0
04 DIZHHALALSE E X 100,000 100,000 0
OZ=EMeExsHa &It 100,000, 000& 100,000
ZEANM=s sHs82d MU X3 7,000 7,000 0
307 glz2+ol & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
OXZEANHZ2 SHSE2AS MESUHE
10,000,000& x70/100 7,000
I S8Hs g =203 XA 19,000 0 19,000
307 gl2tol & 19,000 0 19,000
04 DI2HHALALSE E X 19,000 0 19,000
OXg S8HS g =203
27,142 ,0002 *70/100 19,000




AN MOISHSsASD
HH: HSANASH(SALBH/HS)
& MBS (¢t
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A0 L= XA 14,490 0 14,490
307 gl2tol & 14,490 0 14,490
04 DI2ZHHALALSE E X 14,490 0 14,490
OaZHel RHZ20H8 20,700,000 *70/100 14,490
FUM HHAE= =H KA 9,800 18,200 A 8,400
307 glz2tol & 9,800 18,200 A 8,400
04 QIZFHALALH 2 = 9,800 18,200 A 8,400
Ogget A= =q
14,000,000& x70/100 9,800
sgEd =2 R0 XA 14,000 14,000 0
307 gl2tol & 14,000 14,000 0
04 DIZHHALALSE E X 14,000 14,000 0
OsSYEd =2 ZSATH 228 &
3 20,000,000& *70/100 14,000
LHA & SH0tS At sl X 16,380 18,200 A 1,820
307 21201 A 16,380 18,200 A 1,820
04 DIZHHALALSE E X 16,380 18,200 A 1,820
O L At & MSAIE HEEIEA
23,400,000& x70/100 16,380
o 2= SEUE =203 N 16,380 18,200 A1,820
307 21201 A 16,380 18,200 21,820
04 QIZFHALAIR 2 = 16,380 18,200 A 1,820
OgUoith =2 SEUY S2H3
23,400,000& *70/100 16,380
SAZANE ZEAIR Z2DI0E XI& 39,900 39,900
307 21201 A 39,900 39,900 0
04 QIZFHALAIH B = 39,900 39,900 0
O AZALE ZEAIR 2103
57,000, 000& %70/ 100 39,900
ULHMEH KX X BRI (2SX A )<E x> 319,760 307,760 12,000
J| 128,040
Al 191,720
307 glz2tol & 319,760 307,760 12,000
J| 128,040
Al 191,720
02 IZtE M AMHEE 319,760 307,760 12,000
OQMEMSX S RUHXI(124H]) 319,760,000 319,760
J| 128,040
Al 191,720
MEHSNA2IXNA<EBE> 134,400 134,400
< 17,280
— 17 —




AN MOISHSsASD
Hi: JRMLSH (L2 /HUS)
& MBS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 117,120
307 glz2tol & 134,400 134,400 0
< 17,280
Al 117,120
02 It M AHE X 134,400 134,400 0
OMedsna2IiA 134,400,000& 134,400
< 17,280
Al 117,120
HEAMEHYSXEZX B (2SI )<E x> 273,312 262,512 10,800
J| 115,236
Al 158,076
307 21201 A 273,312 262,512 10,800
J| 115,236
Al 158,076
02 QIAHFAAFEX 273,312 262,512 10,800
O0E4 MeHs X (22])
273,312,000& 273,312
J| 115,236
Al 158,076
AZ UM SHI<E > 322,880 195, 160 127,720
J| 226,010
< 29,060
Al 67,810
301 et a = 322,880 195, 160 127,720
J| 226,010
< 29,060
Al 67,810
09 &AL HIZB A S 322,880 195, 160 127,720
OAx=2x 0184 XN& 322,880,000 322,880
J| 226,010
< 29,060
Al 67,810
ozd MEHsHs =& 3d K& 22,880 22,880 0
301 g2 d= 22,880 22,880 0
09 EAAHIE &S 22,880 22,880 0
Onz24 MEx=siHs =& Al 22,880
-H== 50,000& x200H 10,000
-0l 60,000& 200 12,000
-JIEt2 g (24 28 E) 880,000& 880
25 028 dEXMse FotFH X2 9,040 9,040 0
301 et a s 9,040 9,040 0
09 &AL HI B &S 9,040 9,040 0
o4& H=dtHal s Fot&H 9,040
-4l CH 7,000 *20H 54! «50H 3l 3,500




M MOISHS A YD
Hi: JRMLSH (L2 /HUS)
& MBS (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-4 T 7,000 *20H 24! «3(H 3l 840
- Sl 20,0003 *20H «8CH 2 3,200
-= 8| 15,000& 20 «5CH 3l 1,500
MEXNSX S SH X A<E > 22,800 25,920 A 3,120
< 6,840
Al 15,960
307 212+0 & 22,800 25,920 A3,120
< 6,840
Al 15,960
02 QB HUANFEE 22,800 25,920 A 3,120
OdEH=XNEX WSHI K& 22,800,000 22,800
< 6,840
Al 15,960
U A= WX 1,717,620 1,166,880 550,740
< 50,000
Al 1,667,620
a2 HsUS iz £ | 21,660 21,660 0
201 YEt2 Ayl 18,420 18,420 0
01 At 22l 6,420 6,420 0
O1.4et=ZHl 2,700
-SAEXONE LS 2,700,000& 2,700
O5.=2 &l 2,520
-SHUs ¥ 82U M AMAUAZRA 2
Al 7,0003 3 +10L 128 2,520
O6.8xt=z 1,200
-2 ASHA KNY AZHMAMSI 5
100,000 1+ 12& 1,200
03 &Ar2 I 12,000 12,000 0
OAUZE MIAC U3l #A2EHI
12,000, 000& 12,000
202 044l 3,240 3,240 0
01 = LH o4 1l 3,240 3,240 0
ASH=UE R € 2= 0l
60,0003 *3H 3 63 3,240
StAlsSH dXsd |RXIE XA 15,000 15,000 0
201 ¢er24l 15,000 15,000 0
03 A2 Z Hl 15,000 15,000 0
OdtH .8 &g |XE XA
15,000, 000& 15,000
AXXH)| 245 XA 986,000 558,000 428,000
201 Yete | 900,000 450,000 450,000
01 At 22/l 900,000 450,000 450,000




AN MOISH = A 0
I MNE=

¢elr U AZE NE (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEZ=E S& ANE 82 900,000, 000& 900,000
307 21201 A 86,000 108,000 A 22,000
02 YAFAANHEX 86,000 108,000 A 22,000
OZZ0l7&0 43 N&A 78,000,000 78,000
OZSgAEHA AIRMEHE X
8,000,000 8,000
ESAFEI AEUE 832 F2U3E K 17,010 17,010 0
307 21201 A 17,010 17,010 0
04 QIZFHALAIR B &= 17,010 17,010 0
OZEANEI MUE &2 HFU3
24,300,000& 70/ 100 17,010
S2I|¥ ZeoiHOtetE tHal XA 91,350 101,500 A 10,150
307 21201 A 91,350 101,500 A 10,150
04 QIZFHALAIH B = 91,350 101,500 210,150
OSLINd Zeoll#HOtetEU S
130,500,000& *70/100 91,350
LA AFOFRl Y ESAIEH =443 XA 30,100 30, 100 0
307 glz2tol & 30,100 30,100 0
04 QIZFHALAIH B = 30,100 30,100 0
O L ArobRl & M102] ESAIEH & =4
o CH 3l 43,000,000% *70/100 30,100
ZEAEH 832 &2 s € =HMzE nsd X 21,000 17,010 3,990
%
307 21201 A 21,000 17,010 3,990
04 QIZFHALAIR B = 21,000 17,010 3,990
OXSAZE MIEINEUE & ML DS
o 30,000,000& 70/ 100 21,000
K-el U-18 Ol althsl X 200,000 0 200,000
307 21201 A 200,000 0 200,000
04 QIZFHALAIH B = 200,000 0 200,000
OK-2/3 U-18 o a sl 200,000,000 200,000
HNEUE 57U XNI<EE> 50,000 48,000 2,000
< 25,000
Al 25,000
307 21201 A 50,000 48,000 2,000
< 25,000
Al 25,000
04 DIZHHALALSE E X 50,000 48,000 2,000
OZ&4EE MNEHESEFRUHSE 50,000, 000& 50,000
= 25,000
Al 25,000
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2N
X ZH -
L= B

el

MOtS M = & ot
Al =
=U<

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AEUE 20U XJI_<EE> 50,000 48,000 2,000
< 25,000
Al 25,000
307 gl2tol & 50,000 48,000 2,000
< 25,000
Al 25,000
04 DIZHHALALSE E X 50,000 48,000 2,000
OZ=: MU =203 50,000,000& 50,000
< 25,000
Al 25,000
ZSIMNELEHIE E &3 HELEUS XA 28,980 32,200 N 3,220
307 glz2tol & 28,980 32,200 AN 3,220
04 QIZFHALAIH E = 28,980 32,200 A 3,220
OZEINELEHIE 2E &=2 BHEUEHN
3l 41,400,000& %70/100 28,980
d=&ER0UH3 XA 8,820 9,800 A 980
307 glz2tol & 8,820 9,800 A 980
04 DI2HHALAISE E X 8,820 9,800 A 980
O&= U3 12,600,000& *70/100 8,820
ZEHLMEZMED SEUHE =2US 9,800 24,000 A 14,200
307 glz2+0l & 9,800 24,000 A 14,200
04 QIZFHALAIH E = 9,800 24,000 A 14,200
OSNLNSAR) 2BUE S0
14,000, 000& %70/ 100 9,800
ZEHLMEAMEI Zeeld oFis 9,800 15,600 5,800
307 glz2tol & 9,800 15,600 A5,800
04 QIZFHALAIH 2 = 9,800 15,600 5,800
OZSMHLASALARD Z&telD otxusl
14,000,000& x70/100 9,800
IEgSE=NIE 8= 228 =& S0 14,400 24,000 A 9,600
307 gl2tol & 14,400 24,000 A 9,600
04 DIZHHALALSE E X 14,400 24,000 A 9,600
OZg 2YEHIIY H2242828 70
3 20,571,000% *70/100 14,400
FEE0YE IS HESE el 10,000 15,600 25,600
307 21201 A 10,000 15,600 25,600
04 DIZHHALALSE E X 10,000 15,600 A5,600
OZ=E0YE FA=SHHECE W3l
14,285,000& x70/100 10,000
Ao M2 RAE =303 N 32,000 50,400 218,400
307 21201 A 32,000 50,400 A 18,400




AN MOISH = A 0
I MNE=

@2 FUHe AXZX DE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DIZHH AL AR 2 & 32,000 50,400 18,400
OSLotI A= KF424H 303
45,714,000% *70/100 32,000
SLOALEEE A= Bt=0s X& 21,600 24,000 A 2,400
307 glz2tol & 21,600 24,000 A 2,400
04 QIZFHALAIRIE & 21,600 24,000 2,400
OZLCHALZEY H= HI=SHSE
30,857,000& x70/100 21,600
= -3 EEIUS NS 9,800 9,800 0
307 21201 A 9,800 9,800 0
04 DIZFSHALAIRI B X 9,800 9,800 0
Ol=.328 QLEEIUHSE
14,000,000& x70/100 9,800
d= 6K S5 S 9,800 15,600 A5,800
307 21201 A 9,800 15,600 A5,800
04 QIZFHALAIH B = 9,800 15,600 A5,800
O&= WA sz ia
14,000,000& *70/100 9,800
25 3o XE SZHE 19,600 0 19,600
307 glz2tol & 19,600 0 19,600
04 QIZFHALAIH B = 19,600 0 19,600
O&Z= gsolildg =Zia
28,000, 000& %70/ 100 19,600
HZSAEH =2 Ectoliz2Ua XA 39,900 39,900 0
307 glz2+ol & 39,900 39,900 0
04 QIZFHALAIH E = 39,900 39,900 0
OXESAIZEH M= EClOI&E2U3 XA
57,000,000% *70/100 39,900
FoHsSAZRHEA) d=2=8T5UHal XA 21,000 0 21,000
307 gl2tol & 21,000 0 21,000
04 QIZFHALAFRIE & 21,000 0 21,000
OM11g =aMs22RF2)| d==35)|3H
=l 30,000,000& *70/100 21,000
HMEAE =4 2 22| 17,298,362 15,737,192 1,561,170
< 150,000
Al 17,148,362
SSHSBANE &5 5,867,213 2,541,167 3,326,046
201 Let24d] 40,000 20,000 20,000
01 At 22/l 40,000 20,000 20,000
O6.2xt=z 40,000
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2AHd: MOIESXM =4t
)

Hi: JRMLSH (L2 /HUS)
?2: MSAE =4 2 2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-2 URs 20,000,000& 20,000
- NHe MSAIE 8= 15,000,000 15,000
-HotH dael MSAE URE
5,000,000& 5,000
401 AIEHI L 2CHEI 5,827,213 2,502,497 3,324,716
01 A& HI 5,770,000 2,498,000 3,272,000
Og2&2=2 U8 X3 A
150,000, 000& * 14 150,000
OZYgN=E 0I=EX EXNEH
900,000,000 =14 900,000
OMEBOIRE A& 22 ZA
80,000,000& =14 80,000
Ozt =& =32 & 22
50,000,000& =14 50,000
OTFEXZ SctdtAa3a AJ&E &l
10,000, 000& * 14 10,000
OFREX HOIEESZE FUIZA
20,000,000& =14 20,000
OESLU2SZE OFAXM == &X
10,000, 000& * 14 10,000
O&aol 2=Zel OFA23I17 &X
20,000,000& =14 20,000
OZE2sd =8 XCZE HoYAL 4
50,000,000& =14 50,000
O&lls ZH4ZINE B3
20,000,000& =14 20,000
OUSHAS(VUAY) IZEY L BLTA
1,000,000, 000& 14 1,000,000
OZSAHAMAT HINER AX|
400,000,000& =14 400,000
Ogd2d MIASZE MLOEFSA
30,000,000& =14 30,000
OJIH Hel2sd SZMHLAS
700,000,000& =14 700,000
St HOIE=SE EX3A
100,000, 000 14 100,000
O2A PH3E oA2SI|7 4l
15,000, 000& * 14 15,000
OsoiHYU2SE OIA2SII+ &X
10,000, 000& 14 10,000
OJIAH &3el orA2sI1+ &X
15,000, 000& 14 15,000
OFF &=x22 o207 4
15,000, 000& * 14 15,000
O EHBINY EHAHES SA
700,000,000& =14 700,000
OZEMAE Xs g A
150,000, 000& * 14 150,000
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AN MOISH = A 0
I MNE=

el MSAE X8 @ B (29:29)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZg2sd EXNEZH 50,000,000& =14 50,000
OSofl 2HHUAZE XHS Ex=3A
25,000,000 =14 25,000
OUSE SHAN ¥ GASEIIT &3
15,000, 0002 14! 15,000
OSH POLSSE B4 U TMBA
15,000, 0002 14! 15,000
OZctolY (L8 E) =4
1,000,000, 000& 14! 1,000,000
OZEA AHE =4 FS3AM
30,000,000 » 14! 30,000
ONUS RHRANSAE S2442
30,000,000 » 14! 30,000
Osdl 2&2 oA+ &X
15,000, 0002 14! 15,000
O21lE S3HSAE EX & E=
80,000,000 =14 80,000
OF& Z3el okd23J17 4
15,000, 000& 14! 15,000
Ol Ot8el HOIEESE 23 A
50,000,000& » 14! 50,000
02 Zeltl 50,000 0 50,000
OZctolYF (L) =4 22/l
50,000,000 =14 50,000
03 A& =2 I 7,213 4,497 2,716
OZZHSALEE ALRUH
5,770,000, 000% *0.25/100%50%< & 2> 7,213
HEAE |FX2e 259,629 168, 106 91,523
101 124 dl 4,156 3,874 282
4 DIt Z2XREES 4,156 3,874 282
O33HEAE M= & &0 4,156
-Jlg=a 51,7603 x6H x4 33| 3,727
-AHEE J&22Y3 3,727,000 *11.5% 429
201 et 55,212 44,412 10,800
01 At 22l 6,560 6,560 0
O1.d8 =84l 3,200
-Ald 2te| et 2,000,000& 2,000
M IOMSAEYE QAAHA |21 1,200,000 1,200
O5.2&Hl 3,360
“HSAE2e RFH ALAZ RN =S4
7,000 «4H«102 «12& 3,360
02 2324l 48,652 37,852 10,800
O1.3322LHA 45,420
-HIIe3 6,000
T EMY ME3E 200,000 122 2,400
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AN MOISH = A 0
M ML (BL2Z/HS)
el HMSAE =4 % 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
COHBAE=(HIXZ2E) E0IFE
100,000& = 12& 1,200
SAlHZEAEIE 200,000& =128 2,400
—4oteE A= 200,000& 1228 2,400
-REHI (YL 300& *1,400= 420
-E2HSE2 dIIes 2,800,000& x12& 33,600
R E) T FESHAHYRH
3,000,000 3,000
O3. A& ZHl s Xt 3,232
-HER XU (A AR Z) 6113 +1,846mM 1,128
-MEM SNBSS 26,300,000 *8% 2,104
202 O4dl 4,320 4,320 0
01 = LH 4 1l 4,320 4,320 0
OMSAE e HRFX0L
60,0003 *4H 3 63| 4,320
206 M= Hl 2,500 2,500 0
01 =4l 2,500 2,500 0
OMsSANEdE E=ME(2Y S)7Y
100, 000& =54 500
OuMAEX E+MEH S 2,000,000& 2,000
307 21201 A 93,000 43,000 50,000
05 RIZt2IEt = 93,000 43,000 50,000
OXESAHAIAZE QL& 43,000,000& 43,000
OLEsetiisds2 Cl2tE 50,000,000& 50,000
401 A& HIZ 2018 100,441 70,000 30,441
01 A& HI 100,000 70,000 30,000
OM=AE RX2c 70,000,000& =14 70,000
OZEg2sd TLZ2E KA 2L
30,000,000& =14 30,000
03 A2 2 0HHI 441 0 441
OMSAE FX2el AL
70,000,000 %0.9/100+70%< & 2> 441
HEALESESXI<E D> 301,080 240,900 60, 180
< 150,000
Al 151,080
401 AIEHI L 20 301,080 240,900 60, 180
< 150,000
Al 151,080
01 A& HI 300,000 240,000 60,000
OLENEI3E ANEE HHMBA
300,000, 000& 300,000
< 150,000
Al 150,000
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2N
X ZH -
L= B

el

MOtS M = & ot
Al =
HEAE =4 &

S AL

FMAESH (23

0
AT
0
~
10

S

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 1,080 900 180
OULEH=Z2 AMES MHZ2A Al 208]
300,000,000 x0.72/100%50%< & 2+> 1,080
& 200 XMFHAEHAE 5,406,750 5,406,313 437
401 AIEHIZL 2 0HY| 5,406,750 5,406,313 437
01 Al&H| 5,400,000 5,050,000 350,000
OXHIZ0NSFHE HE 5,400,000,000& 1A 5,400,000
03 AlE 20| 6,750 6,313 437
OXAUIZVINSHE HE AE20Y|
5,400,000, 000 «0.25/100%50%< & 2> 6,750
LTSS HES=Z2A 1,771,183 4,005,279 N2,234,096
401 AlEHIZL £ 0HY| 1,771,183 4,005,279 N2,234,096
01 Al&H| 1,768,000 3,910,000 A2,142,000
OZstH=2 HEE=Z2AF 1,768,000,000 ! x14! 1,768,000
03 A& E2HH] 3,183 5,279 A 2,096
OS2 HES=Z2AF AIE 20|
1,768,000, 0002 *0.36/100%50%< & 2> 3,183
AE22| 2 BEZ(HMSAIZEE) 3,692,507 3,375,427 317,080
309 =2 3,572,032 3,259,027 313,005
01 B2Al- SHIAMNEE= 3,572,032 3,259,027 313,005
OAMEZ2ISC HSAIEE dMNEE2 3,572,032
-SEHIHE 1,015,454 ,000& 1,015,454
-= 0l 4HH 273,711,000 273,711
A= E 1,447 ,331,000& 1,447,331
-AQESEH 269,883,000 269,883
- SO A& 482,530,000 482,530
-0rol &t 83,123,000 83,123
404 ZAM2H2NME2 120,475 116,400 4,075
01 SAH- BHAS2EEZ 120,475 116,400 4,075
OAMEZ2ISE HASAIEE AN2dEs2 120,475
-ESEHIH 25,280,000 25,280
A= HE 7,335,000 7,335
-AlSI =& & 51,200,000 51,200
-Z S0 & 36,360,000 36,360
-0Fol &t 300,000& 300
HESHAY (MOISMS A D) (DI EHDIEH 108,552 122,063 A 13,511
ol 2HH| 27,868 24,399 3,469
EAMNoE2H| 27,868 24,399 3,469
101 Q124 H| 27,868 24,399 3,469
03 RIHEZZXHE = 27,868 24,399 3,469

_26_




AN MOISH = A 0
HH: HH2LSHHI(MOISHMS &S D) (DIEHIIE

ool oz ey (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
ONDISSS2d N2 (dduse 28) A
A3z 2el & oL 27,868
|23 1,033,300& x1H x12& 12,400
-& 02 1,033, 300& * 1™ *400% 4,134
-HE S| 1,033,300 12 *120% 1,240
~H A ZAH| 130,000& x1H = 12& 1,560
-WEE X 70,000& *x1H x12& 840
-ANEEHE X 465,3303 x1H 43| 1,862
-IEs" 80,000& x1H ~12& 960
X< 52,3103 x1¥ ~16L 837
-2FIHA 2 30,000& x1H x12& 360
-d32s4 1,033,300& *1H *10%*23] 207
A2 1,033,300& » 1 *10%*12& 1,240
S 185,600 x1H x12& 2,228
e 80,684 97,664 16,980
SAMSGHI 7,184 10,634 A 3,450
201 Yer2 2t 7,184 10,634 ~3,450
01 At 22l ] 7,084 10,534 A 3,450
O AE2YE dBtx=2H| 4,100,000& 4,100
ORNME&d S| 1,400, 000& 1,400
O=ZAI &Rt 132,000& ~12& 1,584
02 33249l 100 100 0
ORNMEYE 3322 100,000& 100
HARF=XOHI 69,300 81,540 N 12,240
202 04| 69,300 81,540 N 12,240
01 2L Y| 69,300 81,540 N 12,240
OFQIPFANYI 20,000& 219 %13 x12& 65,520
OMZULZEX Hl 20,0003 *x21H «3 «3& 3,780
AR =&Y 4,200 5,490 A 1,290
203 ¥ R =&H| 4,200 5,490 A 1,290
04 SN2YAREAY] 4,200 5,490 ~1,290
OBASHIA2=XHI(HE:20¥)
350,000& x12& 4,200
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